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1. Suppose that a monopolist is confronted with a straight-line demand curve, which passes through the
2-tuples (quantity, price) of (0, 6) and (24,0) in the quantity-price space. The marginal cost curve for
the monopolist is a straight line passing through the 2-tuples (quantity, cost) of (0, 0) and (12, 3).
Show numerically and graphically the profit-maximizing output level and the maximum profit the

monopolist can obtain with the fixed cost equal to zero. (25%)

2. In the IS-LM framework, discuss verbally and graphically monetary policy effects as the interest-rate

response of money demand is zero. (25%)
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